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NH4 2 4AlCl3
2

[24] 

C4H C4H 2H2 – QC H2O CO H – QH Cl 2HCl QO 2 3 Q
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 3H2O2 Cr2O3 2Na2CrO4 2O2Cr+3 – 6  2Cr+62O 2 2O 2H2O2 O – Cr2O3 Cr+3) –
 H2O2 2 3 2 HNO3 O2Ag+ Ag0 22O – 2 O203 Ag+ – H2O2 O –

2 

 2NaOH 2 3 2NaNO3 2O H2O2Na+ + 2OH + 2Ag+ + 2NO3 = 2Na+ +  2NO3 + Ag2O + H2O2OH + 2Ag+ = Ag2O + H2O 

  NaOH NH4 H2O NH3Na+ + OH + NH4+ + F  = Na+ + F + H2O + NH3 OH + NH4+ = H2O + NH3
2 

2  Na2 2 222 22 3 2O
4 
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4  CuO H2 Cu H2O3 3 2 2O3 3 2 2 2On H2n Cu n H2m Cu ·m CuO –n CuOn Cu NO3 2 n CuO n Cum Cu NO3 2m - m – m NO2 – 6Cu NO3 2 6 5 5%
 

5  CxHyOz2 22 2m O m CxHyOz – m C – m H – –n Ox y z – CH3O. C2H6O2
CH2–CH2OH OHCH2–CH2 HCl CH2Cl–CH2Cl H2O
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